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Introduction

As already discussed in previous meetings, the receiving frequency requirements should be changed to take into account the wider audio bandwidth in the 3G mobile terminals. Another reason for this change in the frequency mask is related to the various artificial ears which may be allowed in the future.

Proposition

The main points in the following proposition are:

· a frequency mask centered around a 1kHz frequency. It allows a flat response even in the case of wide-band acoustic, from 100Hz to 10kHz for example. This center frequency should be kept at 1kHz, since it will guarrantee a better subjective acoustic quality.

· a decrease in the lower mask low frequency corner due to the low frequency roll-off when measuring under low acoustic impedance condition

· a decrease in the lower mask upper frequency corner due to the DRP to ERP correction when using 3.2, 3.3 or 3.4 artificial ears
The proposed frequency mask is then as follows:
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Note 1: the limit at intermediate frequencies lies on a straight line drawn between the given values on a log(frequency)/linear(dB) scale
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				100		2				-12

				200		2				0

				299		2		-100				-100

				300		2		-9		2		-7

				500		2						-5

				1000		2		-7		0		-5

				3000		2				2		-5

				3400		2		-12		2		-10

				3401		2		-100		2		-100

				4000		2				2

				10000		2
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